The 1st Universal Cup
Stage 20: India, June 17-18, 2023

Problem C. Exam Requirements

Input file: standard input
Output file: standard output
Time limit: 3 seconds
Memory limit: 512 megabytes

Your university semester exams are coming up. There are N exams where each exam i (1 < i < N)
happens continuously from time S; to E; (both inclusive). To pass an exam, you need to attend it in its
entirety (full attendance for the entire duration of the exam is enough to pass the exam). You can only
attend non-overlapping exams. Formally, for any exams ¢ and j , you can attend both the exams only if
the closed intervals [S;, E;] and [S}, E;] do not overlap. For example [1,3] and [2, 5] overlap. Similarly,
[1,3] and [3, 10] overlap. But [1, 3] and [4, 5] don’t overlap.

To graduate, there M requirements which you need to fullfil, each requirement is of the form: pass at
least one of exams A or B (1< A, B< N and A # B).

You need to fullfil ALL requirements while only attending non-overlapping exams. Check whether it is
possible for you to graduate (output YES/NO , case-sensitive).

Input

The first line contains 7', the number of test cases. Then the testcases follow.
The first line of each testcase contains two integers N and M.
N lines follow, each containing 2 integers. The i-th of these lines contains S; and E;.

M lines follow, each containing 2 integers A, B (i.e. you MUST pass at least one of A, B).

Constraints

e 1 <T <100

1 < N <100000

e 0 < M <100000

e 0 < 5; < E; <1000000000

e 1< A B<N,and A # B.

e The sum of N over all testcases doesn’t exceed 100000.

e The sum of M over all testcases doesn’t exceed 100000.

Output

For each testcase, print in a new line - YES if it is possible for you to graduate, otherwise print NO
(case-sensitive).
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Example

standard input standard output
YES
NO

W NP NN, WN
= W N NN oW

Note

- Test case 1: There are 3 exams, and 1 requirement. You can pass any of the exams 1 or 2 to fulfill this
requirement, and graduate.

- Test case 2: There are 3 exams, and 3 requirements. All 3 exams overlap with each other, so you will
only be able to attend at most 1 exam. But to fullfil all 3 requirements, you would need to attend at least
2 of these exams. Hence it is not possible to graduate.
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